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3.3V IN

ENABLE OUTPUT A

ENABLE OUTPUT B

RESET B

RESET A

2.5V OUT

3.0V OUT

U1

SC1452FIMS

1

2

3

4

5 6

7

8

9

10
OUTA

OUTB

GND

RSTA

RSTB DLYB

ENB

BYP

ENA

IN

COUTA
1uF

CBYP
10nF

CDLYB
10nF

CIN
1uF

COUTB
1uF
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retemaraP lobmyS mumixaM stinU

egatloVylppuStupnI V NI 7+ot5- V

egatloVtupnIelbanE V NE V+ot5- NI V

egnaRerutarepmeTtneibmAgnitarepO TA 58+ot04- C°

egnaRerutarepmeTnoitcnuJgnitarepO TJ 521+ot04- C°

erutarepmeTegarotS T GTS 051+ot06- C°

tneibmAotnoitcnuJecnadepmIlamrehT θ AJ
311 W/C°

esaCotnoitcnuJecnadepmIlamrehT θ CJ
24 W/C°

)ledoMydoBnamuH(gnitaRDSE DSE 2 Vk

retemaraP lobmyS snoitidnoC niM pyT xaM stinU

NI

egatloVylppuStupnI V NI 52.2 5.6 V

tnerruCtnecseiuQ IQ V ANE V,V0= BNE V= NI I, BTUO roAm051=

V BNE V,V0= ANE V= NI I, ATUO Am051=

011 051 Aµ

002

V ANE V= BNE V= NI I, ATUO I= BTUO Am051= 031 002 Aµ

052

V NI V,V5.6= ANE V= BNE )FFO(V0= 2.0 0.1 Aµ

5.1

BTUO,ATUO

egatloVtuptuO )1( V TUO I TUO Am1= %1- V TUO %1+ V

Am0 ≤ I TUO ≤ V,Am051 TUO V1+ ≤V NI ≤ V5.5 %2- %2+

noitalugeReniL )1( GER )ENIL( V TUO V1+ ≤ V NI ≤ I,V5.5 TUO Am1= 5.2 01 Vm

21

noitalugeRdaoL )1( GER )DAOL( Am1.0 ≤ I TUO ≤ Am051 5- 02- Vm

03-

2�����������	�������������

Unless specified: TA = 25°C, VIN = VOUT + 1V, IOUTA = IOUTB = 1mA, CIN = COUT = 1.0 µF, VENA = VENB = VIN.

Values in bold apply over full operating temperature range.
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Unless specified: TA = 25°C, VIN = VOUT + 1V, IOUTA = IOUTB = 1mA, CIN = COUT = 1.0 µF, VENA = VENB = VIN.

Values in bold apply over full operating temperature range.

retemaraP lobmyS snoitidnoC niM pyT xaM stinU

egatloVtuoporD )2()1( VD I TUO Am1= 1 Vm

I TUO Am05= 25 07 Vm

09

I TUO Am051= 551 012 Vm

072

timiLtnerruC I MIL 004 Am

noitcejeRelppiR RRSP C,zH021=f PYB Fn01= 95 Bd

esioNegatloVtuptuO en I,zHk001otzH01=f TUO ,Am05=
C PYB C,Fn01= TUO tuptuoV8.1,Fµ2.2=

72 Vµ SMR

I,zHk001otzH01=f TUO ,Am05=
C PYB C,Fn01= TUO tuptuoV3.3,Fµ2.2=

55

PYB

emiTesiRpu-tratS tr C PYB Fn01= 52.1 sm

BNE,ANE

dlohserhTtupnIelbanE V HI 6.1 V

V LI 4.0

tnerruCsaiBtupnIelbanE )3( I B/ANE V0 ≤ V B/ANE ≤ V NI 5.0- 5.0+ Aµ

BTSR,ATSR

dlohserhTteseR V )TSR(HT V TUO gnillaf 88 09 29 V% TUO

V TUO gnisir 09 29 49

yaleDAteseR t ATSR 03 05 07 sm

yaleDBteseR t BTSR V BYLD V0= 09 051 012 sm

C BYLD Fn01= 4

egatloVtuptuOB,AteseR )4( V HO I ECRUOS Am5.0= 09 89 V% TUO

V LO I KNIS Am2.1= 20.0 01.0 V

BYLD

dlohserhTegatloVyaleD V )BYLD(HT 052.1 V

tnerruCecruoSyaleD I BYLD V BTUO V< HT 1.2 0.3 9.3 Aµ

2�����������	�������������� *�
���-
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retemaraP lobmyS snoitidnoC niM pyT xaM stinU

noitcetorPerutarepmeTrevO

leveLpirThgiH T IH 051 C°

siseretsyH T TSYH 02 C°

Unless specified: TA = 25°C, VIN = VOUT + 1V, IOUTA = IOUTB = 1mA, CIN = COUT = 1.0 µF, VENA = VENB = VIN.

Values in bold apply over full operating temperature range.
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Notes:
(1)  Where X denotes voltage options - see Voltage
Options table.
(2)  Only available in tape and reel packaging.  A reel
contains 2500 devices.

srebmuNtraP egakcaP

RTSMIX2541CS )2()1( 01-POSM

*�
��.���-

��,9)��

X V ATUO )V( V BTUO )V(

A 8.1 8.1

B 5.2 5.2

C 8.2 8.2

D 0.3 0.3

E 3.3 3.3

F 0.3 5.2

G 0.3 8.1

H 0.3 8.2

J 3.3 5.2

K 3.3 8.2

.
���'��,���
��

Replace X in the part number (SC1452XIMS) by the
letter shown below for the corresponding voltage
option:

9������������
��

#niP emaNniP noitcnuFniP

1 ATUO .tuptuoArotalugeR

2 BTUO .tuptuoBrotalugeR

3 DNG .nipdnuorG

4 ATSR ATSR.dlohserhtteserehtwolebsiATUOnehwwolevitcA.AtuptuoroftesernorewoP
.dlohserhtteserehtevobasesirATUOretfa)lacipyt(sm05hgihseog

5 BTSR BTSR.dlohserhtteserehtwolebsiBTUOnehwwolevitcA.BtuptuoroftesernorewoP
Cgnisudetsujdaebnac-lacipyt(sm051hgihseog BYLD teserehtevobasesirBTUOretfa)

.dlohserht

6 BYLD C,roticapacagnitcennocybtesebnacemityaleD.BTESERrofyaledelbammargorP ,BYLD

.emityaledtluafedehtgnisufinipsihtdnuorG.dnuorgdnanipsihtneewteb

7 BNE gniebtonfiNIottcennoC.tupnielbitapmocSOMC.BtuptuorofnipelbanehgihevitcA
.desu

8 PYB C,roticapacFn01atcennoC.ecnereferpagdnabrofnipssapyB PYB dnanipsihtneewteb,
.noitarepoesionwolrofdnuorg

9 ANE gniebtonfiNIottcennoC.tupnielbitapmocSOMC.AtuptuorofnipelbanehgihevitcA
.desu

01 NI .srotalugerhtobrofniptupnI
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220uF
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Open
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Open

JP6

OUTB LOAD
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3

JP7

OUTA LOAD
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3

JP3

IQ MON

1
2

J11

OUTA LOAD DRV
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OUTB LOAD DRV
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OUTA ENABLE
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OUTB ENABLE
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JP4

OUTA LOAD
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R2 10k
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RIPPLE A
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D
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(1)
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ShortShort

NOTE:
(1) See table below for resistor values

Output Voltage R (Ohms) (1W)
1.8
2.5
2.8
3.0
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ytitnauQ ecnerefeR noitpircseD/traP rodneV setoN

1 1C V01,Fµ022 suoiraV

2 3C,2C cimarecFµ2.2 ataruM 61K522R7X6-24MRG

1 4C cimarecFµ1 ataruM 52K501R7X6-24MRG

2 6C,5C cimarecFn01 suoiraV

2 2J,1J niptseT suoiraV etihW

2 4J,3J tekcosCNB suoiraV V TUO rotinomelppir

3 7J-5J niptseT suoiraV deR

2 9J,8J niptseT suoiraV wolleY

2 11J,01J niptseT suoiraV egnarO

7 81J-21J niptseT suoiraV kcalB

6 7PJ-4PJ,2PJ,1PJ nip3,redaeH suoiraV

1 3PJ nip2,redaeH suoiraV

2 2R,1R k01 Ω W01/1, suoiraV

2 4R,3R decalptoN

2 6R,5R citamehcseeS suoiraV W1

1 1U SMIx2541CS hcetmeS

2 3U,2U 0144iS yahsiV
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